239

.97

15.00

15.00

15.00

15.00

15.00

15.00

15.00

15.00

15.00

15.00

39.10

\ 50.87

44.84

BODEGA 26

Area = 649.17 M?

BODEGA 27

Area = 635.34 M?

MEZANINE
Area = 162.33 M?

o EEaanlEH
| |
| |
| |
| |
| |
| |
| |
| |
| |

MEZANINE
Area = 162.33 M?

24.10

BODEGA 28

Area = 628.23 M?

BODEGAZ29

Area = 155.27 M?

BODEGA 30

Area = 613.95 M?

BODEGA 31

Area = 606.80 M?

BODEGA 32

Area = 588.19 M?

/

BODEGA 33

Area = 538.19 M?

/

BODEGA 34

Area = 488.17 M?

BODEGA 35

Area = 436.07 M?

BODEGA 36

Area = 565.43 M?

38, 2

/
/

/
/ MEZANINE

Area = 148.99 M?

i 8 i R 0 s s L T ey ot ph
f f
| | | f f r— a -
f f | f f |
W W W | | W
| MEZANINE MEZANINE f | MEZANINE MEZANINE W MEZANINE MEZANINE W | MEZANINE MEZANINE ,
f Area = 157.07 M? Area = 157.07 M? f f Area = 153.47 M? Area = 153.47 M? | Area=147.08 M? Area = 147.08 M? | | Area=122.05 M? Area = 122.05 M? /
” ” | | | | /
| 7 7 7 /

* | | | L | L

. o
,_ﬂ_ ,_H_ .ﬂ_ p _m_, ,_E i
I = 1 | ] 1l | 1]

i 2

26.95

_

Area = 100.00 m2
f Mezzanine

Area = 100.00 m2 4
Mezzanine f

7
I A7l

BODEGA 25

Area = 400.00 mts 2

|
7
7
kg XY I

BODEGA 24

Area = 400.00 mts 2

CIRCULACION =

CaFaka alEal

_ Area = 100.00 m2
f Mezzanine

Area = 100.00 m2 4
Mezzanine f

|
7
f
L ¥

BODEGA 23

Area = 400.00 mts 2

|
|
|
7 R

BODEGA 22

Area =400.00 mts 2

_

Area = 100.00 m2
f Mezzanine

7
I )% Al X

BODEGA 21

Area = 400.00 mts 2

|
|
|
el

Area = 100.00 m2 4
Mezzanine f

BODEGA 20

Area = 400.00 mts 2

_

Area = 100.00 m2
f Mezzanine

Area = 100.00 m2 4
Mezzanine f

7
I (R

BODEGA 19

Area = 400.00 mts 2

|
|
|
P Jaa] |

BODEGA 18

Area = 400.00 mts 2

faFako alEa)

_

Area = 100.00 m2
f Mezzanine

Area = 100.00 m2 4
Mezzanine f

7
7
7
7
L Cl

BODEGA 17

Area = 400.00 mts 2

|
|
|
7 N

BODEGA 16

Area =400.00 mts 2

_
f

Area = 100.00 m2
Mezzanine

7
7
7
7
L_ _

BODEGA 15

Area = 400.00 mts 2

26.95

BODEGA 14

Area = 400.00 mts 2

BODEGA 13

Area =400.00 mts 2

I A 2
|
|
7 ==
|

| Mezzanine
* Area = 100.00 m2

Mezzanine
Area = 100.00 m2

7.05

BODEGA 12

Area = 400.00 mts 2

BODEGA 11

Area = 400.00 mts 2

| Mezzanine
* Area = 100.00 m2

Mezzanine |
Area = 100.00 m2

BODEGA 10

Area = 400.00 mts 2

Mezzanine
Area = 100.00 m2

BODEGA 9

Area = 400.00 mts 2

Mezzanine |
Area = 100.00 m2

|

=

BODEGA 8

Area = 400.00 mts 2

BODEGA 7

Area = 400.00 mts 2

| Mezzanine
* Area = 100.00 m2

Mach®H
|
|
|
|

Mezzanine |
Area = 100.00 m2

{

BODEGA 6

Area = 400.00 mts 2

~12|

BODEGA 5

Area = 400.00 mts 2

Ag ]

T

| Mezzanine
Area = 100.00 m2

*

Mezzanine |
Area = 100.00 m2

|

BODEGA 4

Area = 400.00 mts 2

r——
7
7
7
7

f
*

Mezzanine
Area = 100.00 m2

BODEGA 37

Area = 238.99 M?

&,

——

45.48

\\\\\ T BODEGA 38
W Area = 2,077.47 M?
MEZANINE |
Area = 519.31 M? 7
f
f
f
f
f
f
A
MEZANINE BODEGA 39
Area = 214.05 M2 | Area = 856.26 M?
| 5
f e
f
AR
WV
BODEGA 3 BODEGA 2 BODEGA 1

Area = 452.87 M? Area = 452.87 M?

Area = 451.98 M?

T I
MEZANINE

MEZANINE

Area = 113.04 M?

Area = 113.16 M?

7 7
7 7
7 7
7 7
7 7
* *

26.95

15.00

15.00

15.00

15.00

15.00

15.00

15.00

15.00

15.00

15.00

15.00

24.10

16.93 16.97 16.97

PLANO DE CONJUNTO

SIN ESCALA

&




